BID TABS PROJECT 22-1021 60th STREET RECONSTRUCTION

BID DATE: FEBRUARY 2, 2022 LaLonde Contractors, Inc. A.W. Oakes & Son. Inc. Zignego Company, Inc. Waukesha, WI Racine, WI Waukesha, WI Item Number Roadway Item Quantity Unit Unit Price Total Unit Price Total Unit Price Total 201.0120 Clearing (Undistributed) 50 ID \$35,00 \$1.750.00 \$35.00 \$1.750.00 \$75.00 \$3.750.00 Grubbing (Undistributed) \$1,750.00 \$2,500.00 201.0220 50 ID \$35.00 \$1.750.00 \$35.00 \$50.00 204.0100.A Removing Pavement (Driveways) 650 SY \$11.00 \$7,150.00 \$7.50 \$4,875.00 \$10.00 \$6,500.00 204.0100.B Removing Pavement (Pavement, Includes C&G) 10390 \$114,290.00 \$205,722.00 SY \$11.00 \$19.80 \$6.30 \$65,457.00 204.0115 Removing Asphaltic Surface Butt Joints SY \$17.28 \$1,900.80 \$1.980.00 \$17.28 \$1,900.80 110 \$18.00 204.0150 Removing Curb & Gutter 40 LF \$15.00 \$600.00 \$20.00 \$800.00 \$9.69 \$387.60 Removing Concrete Sidewalk \$8,820.00 \$5,880.00 204.0155 1176 SY \$9.00 \$10,584.00 \$7.50 \$5.00 Removing Steel Light Pole \$420.00 \$9,240.00 \$689.32 \$15,165.04 204.9060.S 22 EΑ \$414.90 \$9,127.80 205.0100 Excavation Common (2,300 CY @ 8" Thick) 5500 \$18.00 \$24.00 \$132,000.00 \$24.00 CY \$99,000.00 \$132,000.00 Finishing Roadway (project) 213.0100 EΑ \$2.500.00 \$2,500.00 \$3,000.00 \$3,000.00 \$5,000.00 \$5,000.00 Base Aggregate Dense 1 1/4-Inch 305.0120 6100 TON \$19.79 \$120,719.00 \$0.01 \$61.00 \$19.25 \$117,425.00 311.0100 Breaker Run 2480 TON \$0.01 \$24.80 \$0.01 \$24.80 \$24.00 \$59,520.00 320.0145 Concrete Base 8-Inch SY \$6,142.50 \$65.00 \$9,750.00 \$50.00 \$7,500.00 150 \$40.95 415.0080 Concrete Pavement 8-Inch 9230 \$43.78 \$404,089.40 \$42.00 \$387,660.00 \$46.00 \$424,580.00 SY 2 \$200.00 \$200.00 \$2,000.00 415.0210 Concrete Pavement Gaps (Undistributed) EΑ \$100.00 \$100.00 \$1.000.00 415.1080 Concrete Pavement HES 8-Inch 100 SY \$6,168.00 \$57.00 \$5,700.00 \$50.00 \$61.68 \$5,000.00 415.4100 Concrete Pavement Joint Filling 10000 SY \$1.46 \$14,600.00 \$2.00 \$20,000.00 \$1.00 \$10,000.00 \$16,320.00 416.0160 Concrete Driveway 6-Inch 320 SY \$45.07 \$14,422.40 \$51.00 \$61.13 \$19,561.60 416.0180 Concrete Driveway 8-Inch 260 SY \$59.92 \$15,579.20 \$57.00 \$14,820.00 \$74.65 \$19,409.00 Drilled Tie Bars 416.0610 60 EΑ \$12.92 \$775.20 \$10.00 \$600.00 \$20.00 \$1,200,00 416.0620 Drilled Dowel Bars 270 EΑ \$18.92 \$5,108.40 \$20.00 \$5,400.00 \$20.00 \$5,400.00 455.0605 10 GAL \$5.00 \$50.00 \$50.00 \$5.00 \$50.00 Tack Coat \$5.00 460.5225 HMA Pavement 5 LT 58-28 S 20 TON \$302.50 \$6,050.00 \$400.00 \$8,000.00 \$302.50 \$6,050.00 601.0409 Concrete Curb & Gutter 30-Inch Type A 3230 ΙF \$20.21 \$65.278.30 \$17.80 \$57,494,00 \$19.95 \$64.438.50 601.0600 Concrete Curb Pedestrian 300 LF \$30.34 \$9.102.00 \$55.00 \$16.500.00 \$67.24 \$20,172.00 602.0405 Concrete Sidewalk 4-Inch \$42,237.00 \$5.97 7410 SF \$4.61 \$34,160.10 \$5.70 \$44,237.70 Concrete Sidewalk 6-Inch 2370 \$16,590.00 \$15,523.50 605.0415 SF \$7.00 \$6.55 \$7.89 \$18,699.30 602.0515 Curb Ramp Detectable Warning Field Natural Patina 280 SF \$32.89 \$9.209.20 \$40.00 \$11.200.00 \$54.12 \$15.153.60 \$64.063.36 \$135.872.50 \$135.872.50 \$24.000.00 619.1000 Mobilization 1 EΑ \$64.063.36 \$24,000.00 623.0200 Dust Control Surface Treatment 32530 SY \$0.01 \$325.30 \$0.01 \$325.30 \$0.01 \$325.30 625.0100 Topsoil (4-Inches) 4490 SY \$4.50 \$20,205.00 \$7.00 \$31,430.00 \$4.50 \$20,205.00 Mobilizations Erosion Control 2 628.1905 EΑ \$50.00 \$100.00 \$50.00 \$100.00 \$50.00 \$100.00 628.1910 Mobilizations Emergency Erosion Control 2 EΑ \$50.00 \$100.00 \$50.00 \$100.00 \$50.00 \$100.00 628.7010 Inlet Protection Type B 27 EΑ \$55.00 \$1,485.00 \$55.00 \$1,485.00 \$55.00 \$1,485.00 Inlet Protection Type C 628.7015 38 EΑ \$55.00 \$2,090.00 \$55.00 \$2,090.00 \$55.00 \$2,090.00 Inlet Protection Type D 33 628.7020 EΑ \$110.00 \$3,630.00 \$110.00 \$3,630.00 \$110.00 \$3,630.00 628.7560 Tracking Pads 2 EΑ \$100.00 \$200.00 \$0.01 \$0.02 \$2,000.00 \$4,000.00 629.0210 Fertilizer Type B 3 CWT \$75.00 \$225.00 \$75.00 \$225.00 \$75.00 \$225.00 631.0300 Sod Water 110 MGAL \$27.80 \$3,058.00 \$30.00 \$3,300.00 \$27.80 \$3,058.00 631.1000 Sod Lawn 4500 SY \$5.20 \$23,400.00 \$5.50 \$24,750.00 \$5.20 \$23,400.00 637.2210 Signs Type II Reflective H 121 SF \$21.10 \$2,553.10 \$22.00 \$2,662.00 \$21.10 \$2,553.10 638.2602 Removing Signs Type II 35 EΑ \$20.00 \$700.00 \$20.00 \$700.00 \$20.00 \$700.00 638.3000 Removing Small Sign Supports 11 EΑ \$20.00 \$220.00 \$20.00 \$220.00 \$20.00 \$220.00 Field Office Type B

EΑ

\$10,000.00

\$10,000.00

\$12,000.00

\$12,000.00 \$10,000.00

\$10,000.00

642.5001

| 643.0300 | Traffic Control Drums | 23300 | DAY | \$0.15 | \$3,495.00 | \$0.20 | \$4,660.00 | \$0.15 | \$3,495.00 |
|-------------|--|-------|-----|-------------|-------------|-------------|-------------|-------------|-------------|
| 643.0420 | Traffic Control Barricades Type III | 13850 | DAY | \$0.35 | \$4,847.50 | \$0.40 | \$5,540.00 | \$0.65 | \$9,002.50 |
| 643.0705 | Traffic Control Warning Lights Type A | 27700 | DAY | \$0.08 | \$2,216.00 | \$0.10 | \$2,770.00 | \$0.10 | \$2,770.00 |
| 643.0715 | Traffic Control Warning Lights Type C | 13350 | DAY | \$0.08 | \$1,068.00 | \$0.10 | \$1,335.00 | \$0.10 | \$1,335.00 |
| 643.0900 | Traffic Control Signs | 46150 | DAY | \$0.30 | \$13,845.00 | \$0.30 | \$13,845.00 | \$0.50 | \$23,075.00 |
| 643.1050 | Traffic Control Signs PCMS | 30 | DAY | \$35.00 | \$1,050.00 | \$35.00 | \$1,050.00 | \$28.00 | \$840.00 |
| 643.1070 | Traffic Control Cones 42-Inch | 5700 | DAY | \$0.20 | \$1,140.00 | \$0.20 | \$1,140.00 | \$0.15 | \$855.00 |
| 643.5000 | Traffic Control | 1 | EA | \$13,000.00 | \$13,000.00 | \$14,000.00 | \$14,000.00 | \$18,503.47 | \$18,503.47 |
| 645.0220 | Geogrid Type SR | 15800 | SY | \$0.01 | \$158.00 | \$0.01 | \$158.00 | \$4.00 | \$63,200.00 |
| 646.1020 | Marking Line Epoxy 4-Inch | 3120 | LF | \$1.65 | \$5,148.00 | \$1.75 | \$5,460.00 | \$1.65 | \$5,148.00 |
| 646.6120 | Marking Stop Line Epoxy 18-Inch | 100 | LF | \$14.00 | \$1,400.00 | \$14.00 | \$1,400.00 | \$14.00 | \$1,400.00 |
| 646.7420 | Marking Crosswalk Epoxy Transverse Line 6-Inch | 400 | LF | \$13.50 | \$5,400.00 | \$14.00 | \$5,600.00 | \$13.50 | \$5,400.00 |
| 646.9010 | Marking Removal Line Water Blasting 4-Inch | 550 | LF | \$4.00 | \$2,200.00 | \$4.00 | \$2,200.00 | \$3.00 | \$1,650.00 |
| 649.0105 | Temporary Marking Line Paint 4-Inch | 2000 | LF | \$0.50 | \$1,000.00 | \$0.60 | \$1,200.00 | \$0.45 | \$900.00 |
| 649.0150 | Temporary Marking Line Removable Tape 4-Inch (Undistributed) | 500 | LF | \$1.00 | \$500.00 | \$1.10 | \$550.00 | \$0.72 | \$360.00 |
| 650.4500 | Construction Staking Subgrade | 2100 | LF | \$0.76 | \$1,596.00 | \$0.01 | \$21.00 | \$0.76 | \$1,596.00 |
| 650.5500 | Construction Staking Curb and Gutter and Curb & Gutter | 3230 | LF | \$1.25 | \$4,037.50 | \$1.00 | \$3,230.00 | \$1.25 | \$4,037.50 |
| 650.7000 | Construction Staking Concrete Pavement | 2100 | LF | \$1.40 | \$2,940.00 | \$1.00 | \$2,100.00 | \$1.40 | \$2,940.00 |
| 650.8500 | Construction Staking Electrical Installations (project) | 1 | LS | \$2,600.00 | \$2,600.00 | \$1,000.00 | \$1,000.00 | \$2,600.00 | \$2,600.00 |
| 650.9000 | Construction Staking Curb Ramps | 28 | EA | \$140.00 | \$3,920.00 | \$100.00 | \$2,800.00 | \$140.00 | \$3,920.00 |
| 650.9910 | Construction Staking Supplemental Control (project) | 1 | LS | \$1,700.00 | \$1,700.00 | \$1,000.00 | \$1,000.00 | \$1,700.00 | \$1,700.00 |
| 650.9920 | Construction Staking Slope Stakes | 2100 | LF | \$0.70 | \$1,470.00 | \$2.00 | \$4,200.00 | \$0.70 | \$1,470.00 |
| 652.0225 | Conduit Rigid Nonmetallic Schedule 40 2-Inch | 2140 | LF | \$8.86 | \$18,960.40 | \$9.00 | \$19,260.00 | \$9.66 | \$20,672.40 |
| 652.0235 | Conduit Rigid Nonmetallic Schedule 40 3-Inch | 110 | LF | \$12.64 | \$1,390.40 | \$13.00 | \$1,430.00 | \$14.58 | \$1,603.80 |
| 652.0605 | Conduit Special 2-Inch | 450 | LF | \$16.40 | \$7,380.00 | \$17.00 | \$7,650.00 | \$18.83 | \$8,473.50 |
| 653.0140 | Pull Boxes Steel 24x42-Inch | 8 | EA | \$1,065.50 | \$8,524.00 | \$1,100.00 | \$8,800.00 | \$1,155.10 | \$9,240.80 |
| 654.0105 | Concrete Bases Type 5 | 16 | EA | \$880.80 | \$14,092.80 | \$900.00 | \$14,400.00 | \$938.11 | \$15,009.76 |
| 654.0230 | Concrete Control Cabinet Bases Type L30 | 1 | EA | \$1,707.50 | \$1,707.50 | \$1,800.00 | \$1,800.00 | \$3,017.14 | \$3,017.14 |
| 655.0610 | Electrical Wire Lighting 12 AWG | 2170 | LF | \$0.77 | \$1,670.90 | \$1.00 | \$2,170.00 | \$0.89 | \$1,931.30 |
| 655.0630 | Electrical Wire Lighting 4 AWG | 22700 | LF | \$2.23 | \$50,621.00 | \$2.30 | \$52,210.00 | \$2.16 | \$49,032.00 |
| 655.0635 | Electrical Wire Lighting 2 AWG | 1050 | LF | \$3.17 | \$3,328.50 | \$3.50 | \$3,675.00 | \$3.71 | \$3,895.50 |
| 656.0200 | Electrical Service Meter Breaker Pedestal | 1 | LS | \$1,120.00 | \$1,120.00 | \$1,120.00 | \$1,120.00 | \$1,110.28 | \$1,110.28 |
| 657.0255 | Transformer Bases Breakaway 11 1/2-Inch Bolt Circle | 16 | EA | \$398.00 | \$6,368.00 | \$450.00 | \$7,200.00 | \$435.63 | \$6,970.08 |
| 657.0322 | Poles Type 5-Aluminum | 16 | EA | \$1,703.80 | \$27,260.80 | \$1,800.00 | \$28,800.00 | \$1,604.79 | \$25,676.64 |
| 657.0615 | Luminaire Arms Single Member 4 1/2-Inch Clamp 8-FT | 16 | EA | \$194.00 | \$3,104.00 | \$200.00 | \$3,200.00 | \$248.71 | \$3,979.36 |
| 659.2130 | Lighting Control Cabinets 120/240 30-Inch | 1 | EA | \$7,948.40 | \$7,948.40 | \$8,500.00 | \$8,500.00 | \$8,377.29 | \$8,377.29 |
| 690.0250 | Sawing Concrete | 1500 | LF | \$2.05 | \$3,075.00 | \$2.00 | \$3,000.00 | \$1.75 | \$2,625.00 |
| 715.0415 | Incentive Strength Concrete Pavement | 2769 | DOL | \$1.00 | \$2,769.00 | \$1.00 | \$2,769.00 | \$1.00 | \$2,769.00 |
| SPV.0035.01 | | 1650 | CY | \$0.01 | \$16.50 | \$0.01 | \$16.50 | \$29.00 | \$47,850.00 |
| SPV.0035.02 | Aggregate Slurry (Undistributed Amount) | 200 | CY | \$110.80 | \$22,160.00 | \$70.00 | \$14,000.00 | \$100.00 | \$20,000.00 |
| SPV.0060.01 | 2-3/8" OD, 16 GA Galvanized Pole, 12 FT | 17 | EA | \$100.00 | \$1,700.00 | \$100.00 | \$1,700.00 | \$100.00 | \$1,700.00 |
| SPV.0060.02 | 30-Inch Round V-Loc | 17 | EA | \$70.00 | \$1,190.00 | \$70.00 | \$1,190.00 | \$70.00 | \$1,190.00 |
| | Luminaires Utility LED 163 Watts | 16 | EA | \$970.00 | \$15,520.00 | \$1,000.00 | \$16,000.00 | \$1,283.55 | \$20,536.80 |
| | Lighting Connection (39th AV, 41st AV, Pershing Blvd, 54th AV) | 5 | EA | \$500.00 | \$2,500.00 | \$500.00 | \$2,500.00 | \$596.97 | \$2,984.85 |
| SPV.0060.10 | Temporary Light Poles | 1 | EA | \$1,860.80 | \$1,860.80 | \$2,000.00 | \$2,000.00 | \$2,445.33 | \$2,445.33 |
| | As-Built Plans – Lighting | 1 | LS | \$595.20 | \$595.20 | \$600.00 | \$600.00 | \$110.90 | \$110.90 |
| | Removal & Disposal of Existing Lighting Cabinet, Utility Pole and | | | | | | | | |
| SPV.0105.02 | Transformer (Incl. Coordination w/WE Energies and City of Kenosha) | 1 | LS | \$1,184.60 | \$1,184.60 | \$2000.00 | \$2,000.00 | \$1787.46 | \$1,787.46 |
| SPV.0165.01 | | 340 | SF | \$8.07 | \$2,743.80 | \$7.35 | \$2,499.00 | \$8.89 | \$3,022.60 |
| SPV.0165.02 | Landscaping Block Wall (Remove & Salvage Existing Block & Replace) | 100 | SF | \$27.00 | \$2,700.00 | \$27.00 | \$2,700.00 | \$27.00 | \$2,700.00 |

| SPV.0170.01 | Test Rolling | 21 | STA | \$1.00 | \$21.00 | \$100.00 | \$2,100.00 | \$100.00 | \$2,100.00 |
|-------------|---|--------------------|---------------|----------------|--------------|----------------|--------------|----------------|--------------|
| | | Roadway Subtotal | | \$1,395,307.06 | | \$1,488,715.62 | | \$1,602,450.20 | |
| Item Number | Stormwater and Utility Items | Quantity | Unit | Unit Price | Total | Unit Price | Total | Unit Price | Total |
| 204.0210 | Removing Manholes | 6 | EA | \$735.00 | \$4,410.00 | \$1,025.00 | \$6,150.00 | \$735.00 | \$4,410.00 |
| 204.0220 | Removing Inlets | 20 | EA | \$338.75 | \$6,775.00 | \$450.00 | \$9,000.00 | \$338.75 | \$6,775.00 |
| 204.0245.08 | Removing Storm Sewer (8-in) | 650 | LF | \$22.86 | \$14,859.00 | \$11.00 | \$7,150.00 | \$22.86 | \$14,859.00 |
| 204.0245.10 | Removing Storm Sewer (10-in) | 40 | LF | \$22.86 | \$914.40 | \$26.00 | \$1,040.00 | \$22.86 | \$914.40 |
| 204.0280 | Sealing Pipes | 8 | EA | \$540.15 | \$4,321.20 | \$400.00 | \$3,200.00 | \$540.15 | \$4,321.20 |
| 520.8000 | Concrete Collars for Pipe | 10 | EA | \$455.00 | \$4,550.00 | \$375.00 | \$3,750.00 | \$455.00 | \$4,550.00 |
| 608.0418 | Storm Sewer Pipe Reinforced Concrete Class IV 18-Inch | 110 | LF | \$143.05 | \$15,735.50 | \$142.00 | \$15,620.00 | \$143.05 | \$15,735.50 |
| 608.0424 | Storm Sewer Pipe Reinforced Concrete Class IV 24-Inch | 190 | LF | \$150.52 | \$28,598.80 | \$134.00 | \$25,460.00 | \$150.52 | \$28,598.80 |
| 608.0442 | Storm Sewer Pipe Reinforced Concrete Class IV 42-Inch | 1430 | LF | \$242.55 | \$346,846.50 | \$255.00 | \$364,650.00 | \$242.55 | \$346,846.50 |
| 608.0512 | Storm Sewer Pipe Reinforced Concrete Class V 12-Inch | 620 | LF | \$65.70 | \$40,734.00 | \$71.00 | \$44,020.00 | \$65.70 | \$40,734.00 |
| 608.0515 | Storm Sewer Pipe Reinforced Concrete Class V 15-Inch | 310 | LF | \$85.23 | \$26,421.30 | \$87.00 | \$26,970.00 | \$85.23 | \$26,421.30 |
| 611.0420.01 | Reconstructing Manholes – Sanitary | 4 | EA | \$1,947.00 | \$7,788.00 | \$2,000.00 | \$8,000.00 | \$1,947.00 | \$7,788.00 |
| 611.0624 | Inlet Covers Type H | 22 | EA | \$760.46 | \$16,730.12 | \$99.00 | \$2,178.00 | \$760.46 | \$16,730.12 |
| 611.2004.01 | Manholes 4-FT Diameter | 7 | EA | \$2,926.14 | \$20,482.98 | \$2,400.00 | \$16,800.00 | \$2,926.14 | \$20,482.98 |
| 611.2004.02 | Manholes 4-FT Diameter Doghouse | 1 | EA | \$3,185.36 | \$3,185.36 | \$4,600.00 | \$4,600.00 | \$3,185.36 | \$3,185.36 |
| 611.2005 | Manholes 5-FT Diameter | 2 | EA | \$4,168.93 | \$8,337.86 | \$4,300.00 | \$8,600.00 | \$4,168.93 | \$8,337.86 |
| 611.2006 | Manholes 6-FT Diameter | 6 | EA | \$7,799.56 | \$46,797.36 | \$7,400.00 | \$44,400.00 | \$7,799.56 | \$46,797.36 |
| 611.3004 | Inlets 4-FT Diameter | 2 | EA | \$2,298.82 | \$4,597.64 | \$1,700.00 | \$3,400.00 | \$2,298.82 | \$4,597.64 |
| 611.3230 | Inlets 2x3-FT | 20 | EA | \$1,831.20 | \$36,624.00 | \$1,600.00 | \$32,000.00 | \$1,831.20 | \$36,624.00 |
| 611.8110.01 | Adjusting Manhole Covers (Storm) | 3 | EA | \$562.17 | \$1,686.51 | \$500.00 | \$1,500.00 | \$562.17 | \$1,686.51 |
| 611.8110.02 | Adjusting Manhole Covers (Sanitary) | 5 | EA | \$1,196.15 | \$5,980.75 | \$500.00 | \$2,500.00 | \$1,196.15 | \$5,980.75 |
| 650.4000 | Construction Staking Storm Sewer | 38 | EA | \$80.00 | \$3,040.00 | \$75.00 | \$2,850.00 | \$80.00 | \$3,040.00 |
| SPV.0060.05 | Adjusting Water Valves | 29 | EA | \$395.95 | \$11,482.55 | \$185.00 | \$5,365.00 | \$395.95 | \$11,482.55 |
| SPV.0060.06 | Adjusting Water Curb Boxes | 24 | EA | \$381.67 | \$9,160.08 | \$185.00 | \$4,440.00 | \$381.67 | \$9,160.08 |
| SPV.0060.07 | Manhole Cover – Storm Type G | 18 | EA | \$689.89 | \$12,418.02 | \$765.00 | \$13,770.00 | \$689.89 | \$12,418.02 |
| SPV.0060.08 | 6-inch Sanitary Lateral Removal & Replacement | 5 | EA | \$1,873.90 | \$9,369.50 | \$1,150.00 | \$5,750.00 | \$1,873.90 | \$9,369.50 |
| | 3/4" Water Service Line Removal & Replacement | 5 | EA | \$2,022.92 | \$10,114.60 | \$1,150.00 | \$5,750.00 | \$2,022.92 | \$10,114.60 |
| | Storm Sewer Pipe 4-Inch SDR-26 PVC | 40 | LF | \$43.87 | \$1,754.80 | \$58.00 | \$2,320.00 | \$43.87 | \$1,754.80 |
| | Storm Sewer Pipe 8-Inch SDR-26 PVC | 40 | LF | \$55.97 | \$2,238.80 | \$75.00 | \$3,000.00 | \$55.97 | \$2,238.80 |
| | As-Built Plans – Storm | 1 | LS | \$3,200.00 | \$3,200.00 | \$0.01 | \$0.01 | \$2,300.00 | \$2,300.00 |
| SPV.0105.04 | Maintenance Drainage | 1 | LS | \$12,600.00 | \$12,600.00 | \$7,173.37 | \$7,173.37 | \$12,600.00 | \$12,600.00 |
| | | ater and Utility I | tems Subtotal | | 754.63 | \$681, | 406.38 | \$720, | 854.63 |
| | | | Bid Total | \$2,117 | ,061.69 | \$2,170 | ,122.00 | \$2,323 | ,304.83 |

BID TABS PROJECT 22-1021 60th STREET RECONSTRUCTION BID DATE: FEBRUARY 2, 2022

| | | BID DATE. FEE | | Stark Pavement Corp. | | |
|-------------|---|---------------|------|----------------------|--------------|--|
| | | | | | ield, WI | |
| Item Number | Roadway Item | Quantity | Unit | Unit Price | Total | |
| 201.0120 | Clearing (Undistributed) | 50 | ID | \$3,750.00 | \$187,500.00 | |
| 201.0220 | Grubbing (Undistributed) | 50 | ID | \$2,500.00 | \$125,000.00 | |
| 204.0100.A | Removing Pavement (Driveways) | 650 | SY | \$10.00 | \$6,500.00 | |
| 204.0100.B | Removing Pavement (Pavement, Includes C&G) | 10390 | SY | \$6.40 | \$66,496.00 | |
| 204.0115 | Removing Asphaltic Surface Butt Joints | 110 | SY | \$20.00 | \$2,200.00 | |
| 204.0150 | Removing Curb & Gutter | 40 | LF | \$11.00 | \$440.00 | |
| 204.0155 | Removing Concrete Sidewalk | 1176 | SY | \$7.50 | \$8,820.00 | |
| 204.9060.S | Removing Steel Light Pole | 22 | EA | \$414.90 | \$9,127.80 | |
| 205.0100 | Excavation Common (2,300 CY @ 8" Thick) | 5500 | CY | \$18.30 | \$100,650.00 | |
| 213.0100 | Finishing Roadway (project) | 1 | EA | \$2,500.00 | \$2,500.00 | |
| 305.0120 | Base Aggregate Dense 1 1/4-Inch | 6100 | TON | \$21.60 | \$131,760.00 | |
| 311.0100 | Breaker Run | 2480 | TON | \$23.25 | \$57,660.00 | |
| 320.0145 | Concrete Base 8-Inch | 150 | SY | \$36.00 | \$5,400.00 | |
| 415.0080 | Concrete Pavement 8-Inch | 9230 | SY | \$39.25 | \$362,277.50 | |
| 415.0210 | Concrete Pavement Gaps (Undistributed) | 2 | EA | \$1,500.00 | \$3,000.00 | |
| 415.1080 | Concrete Pavement HES 8-Inch | 100 | SY | \$55.00 | \$5,500.00 | |
| 415.4100 | Concrete Pavement Joint Filling | 10000 | SY | \$1.90 | \$19,000.00 | |
| 416.0160 | Concrete Driveway 6-Inch | 320 | SY | \$55.00 | \$17,600.00 | |
| 416.0180 | Concrete Driveway 8-Inch | 260 | SY | \$60.00 | \$15,600.00 | |
| 416.0610 | Drilled Tie Bars | 60 | EA | \$14.00 | \$840.00 | |
| 416.0620 | Drilled Dowel Bars | 270 | EA | \$16.00 | \$4,320.00 | |
| 455.0605 | Tack Coat | 10 | GAL | \$10.00 | \$100.00 | |
| 460.5225 | HMA Pavement 5 LT 58-28 S | 20 | TON | \$270.00 | \$5,400.00 | |
| 601.0409 | Concrete Curb & Gutter 30-Inch Type A | 3230 | LF | \$18.00 | \$58,140.00 | |
| 601.0600 | Concrete Curb Pedestrian | 300 | LF | \$30.00 | \$9,000.00 | |
| 602.0405 | Concrete Sidewalk 4-Inch | 7410 | SF | \$5.65 | \$41,866.50 | |
| 605.0415 | Concrete Sidewalk 6-Inch | 2370 | SF | \$6.50 | \$15,405.00 | |
| 602.0515 | Curb Ramp Detectable Warning Field Natural Patina | 280 | SF | \$36.00 | \$10,080.00 | |
| 619.1000 | Mobilization | 1 | EA | \$90,000.00 | \$90,000.00 | |
| 623.0200 | Dust Control Surface Treatment | 32530 | SY | \$0.25 | \$8,132.50 | |
| 625.0100 | Topsoil (4-Inches) | 4490 | SY | \$5.05 | \$22,674.50 | |
| 628.1905 | Mobilizations Erosion Control | 2 | EA | \$202.00 | \$404.00 | |
| 628.1910 | Mobilizations Emergency Erosion Control | 2 | EA | \$252.50 | \$505.00 | |
| 628.7010 | Inlet Protection Type B | 27 | EA | \$75.75 | \$2,045.25 | |
| 628.7015 | Inlet Protection Type C | 38 | EA | \$101.00 | \$3,838.00 | |
| 628.7020 | Inlet Protection Type D | 33 | EA | \$151.50 | \$4,999.50 | |
| 628.7560 | Tracking Pads | 2 | EA | \$2,200.00 | \$4,400.00 | |
| 629.0210 | Fertilizer Type B | 3 | CWT | \$126.25 | \$378.75 | |
| 631.0300 | Sod Water | 110 | MGAL | \$70.70 | \$7,777.00 | |
| 631.1000 | Sod Lawn | 4500 | SY | \$5.56 | \$25,020.00 | |
| 637.2210 | Signs Type II Reflective H | 121 | SF | \$25.25 | \$3,055.25 | |
| 638.2602 | Removing Signs Type II | 35 | EA | \$50.50 | \$1,767.50 | |
| 638.3000 | Removing Small Sign Supports | 11 | EA | \$40.40 | \$444.40 | |
| 642.5001 | Field Office Type B | 1 | EA | \$6,000.00 | \$6,000.00 | |

| 643.0300 | Traffic Control Drums | 23300 | DAY | \$0.15 | \$3,495.00 |
|--------------|--|-------|---------|-------------|-------------|
| 643.0420 | Traffic Control Barricades Type III | 13850 | DAY | \$0.35 | \$4,847.50 |
| 643.0705 | Traffic Control Warning Lights Type A | 27700 | DAY | \$0.08 | \$2,216.00 |
| 643.0715 | Traffic Control Warning Lights Type C | 13350 | DAY | \$0.08 | \$1,068.00 |
| 643.0900 | Traffic Control Signs | 46150 | DAY | \$0.30 | \$13,845.00 |
| 643.1050 | Traffic Control Signs PCMS | 30 | DAY | \$35.00 | \$1,050.00 |
| 643.1070 | Traffic Control Cones 42-Inch | 5700 | DAY | \$0.20 | \$1,140.00 |
| 643.5000 | Traffic Control | 1 | EA | \$13,000.00 | \$13,000.00 |
| 645.0220 | Geogrid Type SR | 15800 | SY | \$2.30 | \$36,340.00 |
| 646.1020 | Marking Line Epoxy 4-Inch | 3120 | LF | \$1.65 | \$5,148.00 |
| 646.6120 | Marking Stop Line Epoxy 18-Inch | 100 | LF | \$14.00 | \$1,400.00 |
| 646.7420 | Marking Crosswalk Epoxy Transverse Line 6-Inch | 400 | LF | \$13.50 | \$5,400.00 |
| 646.9010 | Marking Removal Line Water Blasting 4-Inch | 550 | LF | \$4.00 | \$2,200.00 |
| 649.0105 | Temporary Marking Line Paint 4-Inch | 2000 | LF | \$0.50 | \$1,000.00 |
| 649.0150 | Temporary Marking Line Removable Tape 4-Inch (Undistributed) | 500 | LF | \$1.00 | \$500.00 |
| 650.4500 | Construction Staking Subgrade | 2100 | LF | \$0.01 | \$21.00 |
| 650.5500 | Construction Staking Curb and Gutter and Curb & Gutter | 3230 | LF | \$1.25 | \$4,037.50 |
| 650.7000 | Construction Staking Concrete Pavement | 2100 | LF | \$1.40 | \$2,940.00 |
| 650.8500 | Construction Staking Electrical Installations (project) | 1 | LS | \$2,600.00 | \$2,600.00 |
| 650.9000 | Construction Staking Curb Ramps | 28 | EA | \$140.00 | \$3,920.00 |
| 650.9910 | Construction Staking Supplemental Control (project) | 1 | LS | \$1,700.00 | \$1,700.00 |
| 650.9920 | Construction Staking Slope Stakes | 2100 | LF | \$0.70 | \$1,470.00 |
| 652.0225 | Conduit Rigid Nonmetallic Schedule 40 2-Inch | 2140 | LF | \$8.86 | \$18,960.40 |
| 652.0235 | Conduit Rigid Nonmetallic Schedule 40 3-Inch | 110 | LF | \$12.64 | \$1,390.40 |
| 652.0605 | Conduit Special 2-Inch | 450 | LF | \$16.40 | \$7,380.00 |
| 653.0140 | Pull Boxes Steel 24x42-Inch | 8 | EA | \$1,065.50 | \$8,524.00 |
| 654.0105 | Concrete Bases Type 5 | 16 | EA | \$880.80 | \$14,092.80 |
| 654.0230 | Concrete Control Cabinet Bases Type L30 | 1 | EA | \$1,707.50 | \$1,707.50 |
| 655.0610 | Electrical Wire Lighting 12 AWG | 2170 | LF | \$0.77 | \$1,670.90 |
| 655.0630 | Electrical Wire Lighting 4 AWG | 22700 | LF | \$2.23 | \$50,621.00 |
| 655.0635 | Electrical Wire Lighting 2 AWG | 1050 | LF | \$3.17 | \$3,328.50 |
| 656.0200 | Electrical Service Meter Breaker Pedestal | 1 | LS | \$1,120.00 | \$1,120.00 |
| 657.0255 | Transformer Bases Breakaway 11 1/2-Inch Bolt Circle | 16 | EA | \$398.00 | \$6,368.00 |
| 657.0322 | Poles Type 5-Aluminum | 16 | EA | \$1,703.80 | \$27,260.80 |
| 657.0615 | Luminaire Arms Single Member 4 1/2-Inch Clamp 8-FT | 16 | EA | \$194.00 | \$3,104.00 |
| 659.2130 | Lighting Control Cabinets 120/240 30-Inch | 1 | EA | \$7,948.40 | \$7,948.40 |
| 690.0250 | Sawing Concrete | 1500 | LF | \$2.25 | \$3,375.00 |
| 715.0415 | Incentive Strength Concrete Pavement | 2769 | DOL | \$1.00 | \$2,769.00 |
| SPV.0035.01 | Unclassified Excavation | 1650 | CY | \$21.25 | \$35,062.50 |
| | Aggregate Slurry (Undistributed Amount) | 200 | CY | \$140.00 | \$28,000.00 |
| SPV.0060.01 | 2-3/8" OD, 16 GA Galvanized Pole, 12 FT | 17 | EA | \$111.10 | \$1,888.70 |
| | 30-Inch Round V-Loc | 17 | EA | \$101.00 | \$1,717.00 |
| SPV.0060.03 | Luminaires Utility LED 163 Watts | 16 | EA | \$970.00 | \$15,520.00 |
| SPV.0060.04 | | 5 | EA | \$500.00 | \$2,500.00 |
| | Temporary Light Poles | 1 | EA | \$1,860.80 | \$1,860.80 |
| SPV.0105.01 | As-Built Plans – Lighting | 1 | LS | \$595.20 | \$595.20 |
| | Removal & Disposal of Existing Lighting Cabinet, Utility Pole and | - | | 7 | 7 |
| SPV.0105.02 | Transformer (Incl. Coordination w/WE Energies and City of Kenosha) | 1 | LS | \$1,184.60 | \$1,184.60 |
| SPV.0165.01 | Concrete Sidewalk 8-Inch | 340 | SF | \$7.00 | \$2,380.00 |
| | Landscaping Block Wall (Remove & Salvage Existing Block & Replace) | 100 | SF | \$121.20 | \$12,120.00 |
| J. 1.3100.02 | Zion Tan (Tomoro & Carrago Exioting Blook & Replace) | . 50 | <u></u> | ¥ .= 1.20 | 7,0.00 |

| SPV.0170.01 | Test Rolling | 21 | STA | \$100.00 | \$2,100.00 |
|-------------|---|-----------------|----------------|----------------|--------------|
| | Roadway Subtotal | | | \$1,827,511.95 | |
| Item Number | Stormwater and Utility Items | Quantity | Unit | Unit Price | Total |
| 204.0210 | Removing Manholes | 6 | EA | \$735.00 | \$4,410.00 |
| 204.0220 | Removing Inlets | 20 | EA | \$338.75 | \$6,775.00 |
| 204.0245.08 | Removing Storm Sewer (8-in) | 650 | LF | \$22.86 | \$14,859.00 |
| 204.0245.10 | Removing Storm Sewer (10-in) | 40 | LF | \$22.86 | \$914.40 |
| 204.0280 | Sealing Pipes | 8 | EA | \$540.15 | \$4,321.20 |
| 520.8000 | Concrete Collars for Pipe | 10 | EA | \$455.00 | \$4,550.00 |
| 608.0418 | Storm Sewer Pipe Reinforced Concrete Class IV 18-Inch | 110 | LF | \$143.05 | \$15,735.50 |
| 608.0424 | Storm Sewer Pipe Reinforced Concrete Class IV 24-Inch | 190 | LF | \$150.52 | \$28,598.80 |
| 608.0442 | Storm Sewer Pipe Reinforced Concrete Class IV 42-Inch | 1430 | LF | \$242.55 | \$346,846.50 |
| 608.0512 | Storm Sewer Pipe Reinforced Concrete Class V 12-Inch | 620 | LF | \$65.70 | \$40,734.00 |
| 608.0515 | Storm Sewer Pipe Reinforced Concrete Class V 15-Inch | 310 | LF | \$85.23 | \$26,421.30 |
| 611.0420.01 | Reconstructing Manholes – Sanitary | 4 | EA | \$1,947.00 | \$7,788.00 |
| 611.0624 | Inlet Covers Type H | 22 | EA | \$760.46 | \$16,730.12 |
| 611.2004.01 | Manholes 4-FT Diameter | 7 | EA | \$2,926.14 | \$20,482.98 |
| 611.2004.02 | Manholes 4-FT Diameter Doghouse | 1 | EA | \$3,185.36 | \$3,185.36 |
| 611.2005 | Manholes 5-FT Diameter | 2 | EA | \$4,168.93 | \$8,337.86 |
| 611.2006 | Manholes 6-FT Diameter | 6 | EA | \$7,799.56 | \$46,797.36 |
| 611.3004 | Inlets 4-FT Diameter | 2 | EA | \$2,298.82 | \$4,597.64 |
| 611.3230 | Inlets 2x3-FT | 20 | EA | \$1,831.20 | \$36,624.00 |
| 611.8110.01 | Adjusting Manhole Covers (Storm) | 3 | EA | \$562.17 | \$1,686.51 |
| | Adjusting Manhole Covers (Sanitary) | 5 | EA | \$1,196.15 | \$5,980.75 |
| 650.4000 | Construction Staking Storm Sewer | 38 | EA | \$80.00 | \$3,040.00 |
| SPV.0060.05 | Adjusting Water Valves | 29 | EA | \$395.95 | \$11,482.55 |
| SPV.0060.06 | Adjusting Water Curb Boxes | 24 | EA | \$381.67 | \$9,160.08 |
| SPV.0060.07 | Manhole Cover – Storm Type G | 18 | EA | \$689.89 | \$12,418.02 |
| | 6-inch Sanitary Lateral Removal & Replacement | 5 | EA | \$1,873.90 | \$9,369.50 |
| | 3/4" Water Service Line Removal & Replacement | 5 | EA | \$2,022.92 | \$10,114.60 |
| | Storm Sewer Pipe 4-Inch SDR-26 PVC | 40 | LF | \$43.87 | \$1,754.80 |
| SPV.0090.02 | Storm Sewer Pipe 8-Inch SDR-26 PVC | 40 | LF | \$55.97 | \$2,238.80 |
| | As-Built Plans – Storm | 1 | LS | \$3,200.00 | \$3,200.00 |
| | Maintenance Drainage | 1 | LS | \$12,600.00 | \$12,600.00 |
| | | ter and Utility | Items Subtotal | \$721, | 754.63 |
| | | | Bid Total | · · · · · · | ,266.58 |